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Abstract

Cerium is a parallel programming framework, which developed by our laboratory. We
implemented parallel file processing using both mmap and multi threaded read. The
multi-threaded read uses Blocked Read. The parallel proccesing is performed for each
block as a map task. The results of map tasks are summed in a reduce task.

Examples of parallel string proccesing in Cerium are including Word Count, Boyer-
Moore Search and Regular Expression matching. Regular expression matching uses DFA
generation (Subset Construction). The matching is performed by array of tState, which
are pair of matching range of characters and next tState. The parallel proccesing of the
matching is per-block based. In case of matching patterns which acrosses blocks, the
matching processes are executed in the reduce task.

We compare examples of Cerium with UNIX wc and egrep.



u10

g20
2.1

03d
3.1
3.2
3.3

040
4.1
4.2
4.3
4.4

gs50
5.1
5.2
2.3

el
6.1

gooo

gbobobooodaon

Cerium
Cerium TaskManager . . . . . . . . . .. ...

Oo0oooo 1/0

£ 21 J P
Blocked Read . . . . . . . . . . . ...
[JOOO thread DOO . .. 0000000 oo

Cerivm U0 OQ0OOOO0OOOOO

OO0D00000000 ... e e e
Word Count . . . . . . . . . . .
Boyer-Moore String Search . . . . . . . . ... ... o000
OOO0O .. e e e e
441 DO000O0OD0 .« .. e e
442 000000000000 ... .. e
4.4.3 Subset Construction DO OO OOOO .. ... ... ... .. ...
444 0D00000OD0OO0ODOOOO0O ... .. ... ...
OOoDoooo

Word Count . . . . . . . . .
Boyer-Moore Stirng Search . . . . . . . . . ... ... L.
OO00O .. e
00

OO00O0 ...

11
11
13
15
21
22
27
30
34

40
40
42
42

45
45

47



2.1

3.1
3.2
3.3
3.4

4.1
4.2
4.3
4.4
4.5
4.6
4.7
4.8
4.9
4.10
4.11
4.12
4.13
4.14
4.15
4.16
4.17
4.18
4.19
4.20
4.21
4.22
4.23

Task Manager . . . . . . . . . .. 4
mmap Model . . . . . . . ... 8
BlockedRead Model . . . . . . . . . . . ... 9
BlockedRead O Task OO0 threaed DO OOOOO ..o o000 9
10 Thread O OO BlockedRead . . . . . . . ... ... ... ... ..... 10
File OOOOOOOOODODOO0O ... ... 0 s 11
000000000 Word Count . . . . . . . . . ... ... .. 13
000000000 Word Count . . . . . . . ... ... ... ... .... 13
OOO00O0 ... e 16
pattern OO0 OO O0OO00OOODOOOOODOODOOO ... ......... 16
pattern OO0 DO OO O0O00OO0ODOOOODOODOO ... .. ........ 17
patteen OO0 OO0 O00O00O0OOOOOOOOOOOODOOOOO ...... 18
0000000 . ... . e e s 19
J00000000oooOo1o00o0o0ooooOoOoag ... 21
0000000000 00000oon ..o 23
OO0D00O0 ... 24
O00000 . ... 24
OO . e 25
OO0 ... 25
OO0O0 ... e 26
0000000 . ... . e 26
00000000000 0000000g .« ..o oo s s e 29
bOOOOOOOOOOOOODODDODOOOOOOOOO ... ... ... 29
bOdOOOOOOOOOOOOODODOODOOOOOOODOODOoOoO ... 30
000000 . ... e 31
Subset Construction OO0 OO OOOOOOO .. ... .. ......... 32
000000000 Merge 0ODOOODOODOO ... ... 33
gododoooooooooooooooooooooo . ... 37

ii



6.1

gogbobobogooboboboooobbobuooooboooo

iii



2.1
2.2

4.1
4.2

5.1
5.2
5.3
5.4
2.9
2.6
5.7

U U

Task OOODOOO APL . . .. .o o o )
Task OOODOOO API . . .. ... . 5)
O00000000000000 .+ .00 oo o oo oo 22
UO0O0O000000 .00 22
00000000000 Word Count . . . . . .. .. ... .. ... .... 41
O0oo0DooOoononO WordCount ... . o o o0 000000 41
00000 Boyer-Moore String Search OO O . .. .. ... ... .. ... 42
Oooooooooooooooouoon grepddtd o000 oL 43
000000000000 00 grep0O0O .00 0o o oo oo 43
O0o0o0Dooooooog GrepOQOGQO 0000000000 44
000000000000 000 grepOODO0O 0000 o000 oo 44



10 oottbbobootdd

O00000000000000 LegO0OO0O0OO0OO0OO0OOOOOOOOOOOOODOODO
goooooboogboboobo TBOOoooboobobooboooboooboboooo
gboobbodgbuodgboobboobuoobbobobboobooboobbod
gbboogbogbbuooooboobobuoobboobboobooboboobood
gbgobobboboobooboobon
Ceriim U0 O00O0O0O0O0O0OO0OOOOODOODOOODOODOOOODOOOODOOOO
000 Crium OO O0O00D0OOOO00OO0ODOOOOOOODOOOODOOODOOOODDOOO
gbogobogobbuogbooboooboobbuoooooboboobboobood
gbogobobbobbobooboob
O00OobOobo0ooooboobOdWord CoitD 0 0O0ooooooooooobooo
gbobobobobboooboboboboboboooboobobobobobo
gobobboboooobboooobbboooobbbooobbobuoooobobog
gboboboboboooobbobobobooooboboboboboooon
goboboooobbodd
gboboobobooboobobobobobobobobobobobobobobob
gobbbooobbbooogbboboooobobuoooobo



1 20 Cerium
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2.1 Cerium TaskManager

Cerium Task Manager DO User OO0 0000 Task OO DO0O00O0OO0ODODOOOOO
000 Task OO OOOOODO Task 0000 Input Datald Output Data OO0 O 00O O
Input Datald Output Data 00 000000000000 D0O0ODO Task OODODOODO
gbobbobooboobooouoobobobobobooooooobUobobobooog
Task Manager OO0 OO0 OO0 OOOO

0210 Certum 0 Task DO OO0 O OO0OO0D0ODO0OOO0OOOOODODOUser U createtask
OO00O0Oinput data 0 Task OO0 000000 0OO OO O TaskManager O Task 00 0O 0O
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020 Cerium

1:createtask()

2:spawn()
/v' TaskManager
User Task / AcriveTaskList
mail
WaitTaskList
FifoManager CpuThreads GpuThreads CudaThreads
FifoScheduler GpuScheduler CudaScheduler
Scheduler

0 2.1: Task Manager

Input Data OO0 000 2000000000utput Data 0000000 OO0 multiply

gobboboooobbb 210000000
O00Task OODOODOODO APIDODOO 210000

obooood 2.1: Task OO O

1| multi_init(TaskManager *manager)

g ¢ float *A, *B, *C;

g // create Task

6 HTaskPtr multiply = manager—>create_task( MULTIPLY _TASK);
; // set device

9 multiply—>set_cpu(SPE_ANY);

11 // set inData

12 multiply—>set_inData(0, (memaddr)A, sizeof(float)*length);
13 multiply—>set_inData(1, (memaddr)B, sizeof(float)*length);
14
15 // set outData

16 multiply—>set_outData(0, (memaddr)C, sizeof(float)xlength);
17|
18 // set parameter

19 multiply—>set_param(0,(long)length);




020 Cerium

20|
21| // spawn task
22| multiply—>spawn();

23‘ }

create_task | Task OO0 OO0

set_inData | Task 00O O0O0O0OOO0ODOOOOOO

setoutData | Task OO0 0O O0O00OOOOOOOO

set_param | Task OO0 OO0O0O00OO0O00OO0O length

set_cpu Task OO OOOOOOOOOO

spawn 0000 Task O TaskList O set

0 21: Task 00O OO0O API

OO000D0D0000000OD TeskODOODOOOO 220000

000000 2.2: Task

1| static int

2| run(SchedTask *s) {

3 // get input

4 float xi_datal = (float*)s—>get_input(0);
5 float xi_data2 = (floatx)s—>get_input(1);
6

7|

8

// get output
float xo_data = (floatx)s—>get_output(0);

10 // get parameter
11 long length = (long)s—>get_param(0);

13 // calculate
14 for (int i=0; i<length; i++) {

15 o_data[i] = i_datal[i] * i_data2][i];
16

17| return 0;

18] }

000220 Task OOO0DOOO0 APIOOODOTask OD0OOO0DOODO Input Data O

parameter OO0 000000000

0 22: Task OOOOO0O API

get_input | Scheduler O O input data O 0O
get_output | Scheduler O O output data 0 0O O
get_param | set_param 00 0000
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3.2 Blocked Read
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O00000b0b000ooobDoboD TaskODOOOODOOODODODOO

000000000 Threed 00000000 OOODDOOOCOOO (Block)OOOO
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000000000 Task (DO OBlocked Read) 00000000 OODOOOOOOO
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OO000O0OBlocked Read OO OOO0DOO0OODOOD0OO Task OOODODODOODOODOODO
OO0O0O0OBlocked Read DO OODODOODOODOODODODOODOODODOOOODLDODODOO

Cerium Task Manager 0000000 Task DO OD0OO0OO0OO0OO0OODOODOODO
OOOSPEANY OODOODOODOTask Manager 0 CPUODOODOODOOOOODOOOO
O00000000000b00000000D0 Blocked Read Task 00 Task OO O OO
0000000000000 0O0000000Doo0OD (O 3.3)

SPE_ANY Thread |

Blocked Read || TaskBlock || TaskBlock || Blocked Read | | Blocked Read

O 3.3: BlockedRead 0 Task OO0 0O threed DO OOOOO

0000 Task O Blocked Read Task 0 00000000 O0O0OOOOOOOI/O0OO
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000000000000000000000000000000000000000
0000000000000000000000000 (Input Data)00000000
0 (Task) 000 000000000000000000O00 (Output Data)J 0000
Output Data 000 0000000000000000000000 (Print Task)O (0
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Input Data
File Data (File Data) Task Output Data Print Task

e
Task
\

041 FileODOODODODOOOOOODO

0000000000 DO0DO0O0Ob0O0DO00b010000D0000 Cerium DOOO
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Task OO ODODODOO0O0ODODODOOOODOODOOOODOOOOOOOODOOOOOOO
00000000000 0000000O0 FileMapReduce 000000

Ceriiom OO0 O0O0OO0DODOOODDOOO TMmain 000 CO main 00000000
TMmain 0000 Task 0000000000 DOODOOODOODOODOOODOOOOOOO
000 Task OO0 O0OO0D0O0 Task OOOODODOOOOOOOODODODOOOODODOOOO
0 0O 0O FileMapReduce 00 OO0 O00OOOOOFileMapReduce 0 00 O00OO0O0O0OOO0O
O0oo0o0oooooooan

000000 4.1: FileMapReduce 0000000 TMmain 00O

int
TMmain(TaskManager *manager, int argc, char xargvl[])

T W N
—~

char xfilename = 0;

FileMapReduce xfmp = new FileMapReduce(manager, TASK_EXEC,
TASK_ EXEC_DATA PARALLEL,TASK PRINT);

filename = fmp—>init(argc, argv);

if (filename < 0) {

0 3 >

return —1;
9
10, fmp—>division_out _size = sizeof(unsigned long long)*4;
11 task_init();
12 fmp—>run_start(manager, filename);
13| return 0;

14] }

e TASK_EXEC OO O OO Task
e TASK_EXEC_DATA_PARALLEL GPU OO O OO OO Task

e TASK_ PRINT OO UOD DO OO Task

O00000 410 7000 init O option DO O OO OO option OO Task O OO
00000 CPUODOOOODOOO (mmap O Blocked Read) 00000000

1100 division_out_size DO O0OUODO0OO Task DO OO0DOODOOODOOODOO
oo

12000 run_start 0000000 TaskOODOODOO Task OOOOOO0ODOO
O Task OODOOODOODOOODOO

O00000 Task OOODOOOODOOODOD Print Task OOOO0OD0OOO0DOOOOOO
gbggboobuogbobuoobobuoobbuoobboobbogboobobood
gobbboooobbbuoodoobbbooobbbuoooobbod

gobboooobobbooogboobooooboboooobobod
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4.2 Word Count

Word Count 000000000000000000000000000Input Data O
D00000000000000000Output Data00000000000000
000000000000000000000000000000000000000
000000000000000000000000
00000000000000000000000000000000000000
0004200000000000 Word Count 00 00
000000000000 (Word Num) 3000 (Line Num) 2 0000

|w|o|r|d| |w|o|r|d|\n|w|o|r|d|\n|\0|

Word Num : 3

Line Num: 2

042 000000000 Word Count

g4300000000000000000000DO1O0D00000O00O0O0O0O 100
gbobobooooboboboboobooboboboboobi1bobobobobog
gbobobgil1gbgboobobobooobob 1bobobobb200000
googod 2000000000000 0o0 1booboobooboobooobog
gbooobboobodboobobooboobbooboo 10obo0obboobo
goboobooboobuoobooboobobo

gbobobooobooboboboboboobob 2000 2000000000
gbooboobooboobgg

(wlo|rld] [wlo[r]|d] [ww]o|r][d]n]v]
Word Num : 1 Word Num : 1
Line Num: 0 Line Num : 2

043: 000000000 Word Count

oot bobooooooooooooogg
gboobooobobooboobboobooboobbooboobboobo 10
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040 Cerium 00000000 O0ODO0O

goboboodgbboboogbboooobbuooob 430 120000000000
gobboood

000000 4.2: Word Count 0 O O

1| SchedDefineTask1 (Exec,wordcount);

2

3| static int

4] wordcount(SchedTask *s, void xrbuf, void swbuf)

5|

6 t unsigned long long xhead_tail_flag = o_data +2;
7 head_tail flag[0] = (i_data[0] != 0x20) && (i_-data[0] != 0x0A);
8 word_num —= 1—head_tail_flag[0];

9 for (; i < length; i++) {

10 if (i_-datali] == 0x20) { // 00O

11 word_flag = 1;

12 } else if (i_data[i] == 0x0A) { // 0O

13 line_num += 1;

14 word_flag = 1;

15 } else {

16 word_num += word_flag;

17 word_flag = 0;

18 }

19
20 word_num += word_flag;
21 head_tail flag[1] = (i_data[i—1] != 0x20) && (i_data[i—1] != 0x0A);
22 o_datal0] = (unsigned long long)word num;
23 o_data[l] = (unsigned long long)line_num;
24| return 0;
25| }

gboobdb4209-19000000000000000DOhead_tail_flagO OO
0000000000000 0ob0ooooobD0obOobOb Word Count Task O O
U0U000Ohead_flagtail_flag D 400000000000

000000 4.3: Word Count O Print Task

#define STATUS_NUM 2

static int
run_print(SchedTask xs, void srbuf, void *wbuf)

long status.num = STATUS_NUM;

unsigned long long word_data[STATUS_NUM];
int flag_cal_sum = 0;

9 for (int i = 0; i < STATUS_ NUM; i++) {

0~ O U W =
—_

10 word_datali] = 0;

11 }

12 int out_size = w—>division_out_size / sizeof(unsigned long long);
13 for (int i = 0; i < out_tasknum ; i++) {

14 word_data[0] += idata[ixout_size40]; // 000000

15 word_data[l] += idatalixout_size+1|; // 00000

16 unsigned long long xhead tail flag = &idata[ixout_size+2];
17 if((i'=out_task num—1)&&

18 (head_tail flag[l] == 1) && (head_tail_flag[4] == 0)) {
19 flag_cal_sum++;

20 }

14
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21| } |
22| word_datal0] += flag_cal_sum; \

23‘} ‘

O00000430000000 TeskOOOOOOOOOOOOOOOOOOOOO
00001320000 Word Count Task 00 000000000000 OOOOOOO
head_tail_flagU U OO OOODOODUOOOODDOOOOOOOODLDOODDOOODOOO
O00Ooo00ooo0oboonO Print 0O0OO

4.3 Boyer-Moore String Search

0000000000000 00DO0DO0DO0DO0000DbO0OD0ODO0OD0ODOdBoyer-
Moore String Search O O 0O O O O O Boyer-Moore String Search 00 1977 O O Robert S.
Boyer O J Strother Moore 00 0000000000000 OODOO[N]

0000000000000 000D0000D0 textUODOOODODOOO pattern O
ooooo

0000000000000 b000b0000b00obOo0onDOgn text O pattern
00000000000 0Opattern O0O00000O pattern 0 100000000003
0000000000000 0000000O0text OODODOO pattern DO OOOOO
O0000000DO0D000DO000 pattern 0000 10000000000O00DOO
(O 4.4)

0000000000000 00D0000 textO pattern OO0 DO OOO0OOOOOO
000000000000 D00000OOtext DO0ODO nOpattern DOOO mO0O0
O0000000000000 Omnm)00O0OO

0000000000000 b00bOobooon Boyer-Moore String Search 00 0O 0O O
0000000000000 Otext 0 pattern 0000000000 O0DOOOO pattern
goboooboooobuoooobooobooobbobobuooobooooobo
O00 text 00 O0O00OO0O0ODOOODOOODOOODO

O4500text O pattern OO0 D D000 0O0O00OOOOODODOO text O pattern O
000000000000 000000 text0OO0O0O pattern OO0OODOOOOOODOO
pattern 0 O0O0O0O00 match OO OO0O0O00OOOpattern OO0 O0OOOOODOO0O
o0ooooon

046 00000000000DO text DOOO pattern OOODDOOO0OODOOODOO
oo pattern OO0 200000 text U pattern DO OO OO

O0000D0D0OD text DO0ODO pattern OO0 0O0O0O0OODODOOOOOOOODOOO
pattern 00 000000000000 pattern 00D O0OD0DO0DOOOODOODOOO
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Il mismatch

mismatch U7t text ‘a’ I&
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A A

. match

pattern i_“Tn_ al|b|c

O 46: pattern UUODO0OD0DO00OO0DOOOOOOOO

047000000000000 textDDODOO pattern 000D O0O00O0OOOODOOO
pattern U OO DO0O0O0O0OOOOOOOO

pattern D000 4000000000000 text ODODO ‘a’ 0 pattern O 1 000
JUbbubbbbbb0pattern DOODOOUOOOO 10 3000000000 3000
O0pattern OO0D0D0O00 text D0 O O0OD0ODOD0O0OODDO0OOO0OO 20000000
goboboboo 1oboo

pattern U text UU OO O OOOOOOOOOO

e pattern UUUUOUOODODOOODODOOOOOO000O0 pattern DOOOOOOOO
god

epattern U O DODOODOOOOOOOOpattern DO DO OO pattern DO O OOMOM
goboboooooboboooobobobn

e pattern UUUUUOODODOOODOOOO pattern UDODOODDODODOOOOOOOO
gbobboooobbbuoooobboooobbobooooo

O0b0o0booobooobooooboobobooboboOobooOn skiptableDOODOOO
gobobuooooboobogo
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a (& pattern ‘abac’ ICEENTWD

text |x|a|b|a|c|c|x|
A

mismatch

pattern |a|b|a|c|

pattern 23 2% 3(c 5T &,
match §9Z B9

text |x|a|b|a|c|c|x|

A .
i mismatch

pattern E""T _______ —[ -_-_-_| a | b | a | c |

[ |

pattern Z1 2% 3Ic3 59 &

match 9%
text |x|a|b|a|c|c|x|
A A A match
Y VY ¥
pattern E____| a | b | a | c |

U4 pattern DO0DOODO00O0OO00O0O0ODOOOOO0OOOODOOODO
text UUOOOO00O0DO0O0 pattern DUOOO00O0O0O0O0O0OOO0ODOOOOOO0O0O00O0

Ubooboob text 000 LODODOOpattern 000 sO0 10000000000
0000000000000 00O00000000oDooO0oOoO0(O4.8)
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1 L+s-1 |
f 1
| s |
| L f 1
(A . g
1
S IR CRRRERER| :
Search Task1|:|:|:| T | d o | i | n | g | task1:doingldFEY %
Search Task 2 o | i | n | g | | | | -+ + ¢ task2:doinglFFETEL W
| ARDTask1 D text D AEDTask2D text DERH
[P S UL B B B L R AL

048 0000000

000000 4.4: Boyer-Moore String Search 0 TMmain

0 N O Ut W N

©

11
12
13]
14
15
16
17|
18]
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33|
34
35
36
37|
38

39

typedef struct bm {
intx skip_table;
unsigned char xsearch_word;
int search_word_len;

} BM, «BMPtr;

//Boyer Moore String Search 00 000 skip table 000

static void

create_BMskiptable(BMPtr bm)

{
bm—>skip_table = (int*)malloc(sizeof(int)*256);
for (int i = 0; i < 256; ++i) {

bm—>skip_table[i] = bm—>search_word_len;
}

for (int j = 0; j < bm—>search_word_len — 1; ++j) {
bm—>skip_table[bm—>search_word[j]] = bm—>search_word_len — j — 1;
}

}
int
TMmain(TaskManager *manager, int arge, char xargv][])
t BMPtr bm = new BM,;
bm—>skip_table = (int*)malloc(sizeof(int)*256);
for (int i = 1; i < arge; i++) {
if (strcmp(argvl[i],"-sw") == 0) {
bm—>search_word = (unsigned charx)argv[i+1]; i++;
bm—>search_word_len = strlen((const charx)bm—>search_word);
create_BMskiptable(bm);
}
}
fmp—>w—>global = (voidx)bmp;
fmp—>overrap = bmp—>search_word_len — 1;
fmp—>division_out _size = sizeof(unsigned long long);
task_init();
fmp—>run_start(manager, filename);
return 0;
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000000442700 00000000OO0OOOOOODOODOOOOOOOOOO0
000000000000 skip_table DO0ODOOOOOO Boyer-Moore String Search
0000000 bmOOO00OD0ODO0O0O0ODOODODOOO0ODODOODO TaskOODODOO
000

3300 w—>global DO OOOOODOOODOOODOOOOw->global OO OODOOODO
O000D000 Task O Print OO0 Task OO0 0O O00OD0O0OOD0OODOOO

000000450 2800000TMmain OO00O0O0 bmp OOO0DOOODOODO

000000 4.5 Boyer-Moore String Search [0 0 O

1| static int BM_method(unsigned char xtext,int text_len,
2 unsigned char xpattern,int sw_len,int xskip)
3

4 int i =sw_en — 1;

5 int match_counter = 0;

6

7 while (i < text_len){

8 int j = sw.len — 1;

9 //pattern 00000000000

10 while (text[i] == pattern][j]){

11 if (j == 0){

12 match_counter++;

13 }

14 ——i;

15 -

16 }

17 i = i + max(skip[text][i]],sw_len — j);

18

19 return match_counter;
20 }

22| static int

23| task_exec(SchedTask *s, void *rbuf, void xwbuf)
24 {
25 unsigned char *i_data = (unsigned char *)s—>get_input(0);
26 int length = (int)s—>get_inputSize(0);

27 MapReduce xw = (MapReducex)s—>get_param(4);

28 BMPtr bm = (BMPtr)w—>global;

29
30 unsigned long long xo_data = (unsigned long longx)s—>get_output(0);
31
32 o_data[0] = BM_method(i_data,length,bm—>search_word,bm—>search_word_len,bm—>skip_table
);

33 return 0;

34 }

000000 450 3-20000 Boyer-Moore String Search 000000000000
pattern D OO OO0 0OD0OO0OOOpattern DODOODOOOOOOOOODOODOODO 10
000d

lrogboooboooboobooobobooboobooobboobbooon
U000 pattern DO O OO OOOOOOOODOOODO
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000000 4.6: Boyer-Moore String Search O Print Task

static int
print_task(SchedTask xs, void srbuf, void *wbuf)

1

2

3

4 MapReduce xw = (MapReducex)s—>get_input(0);
5 unsigned int idata_task_num = w—>task_num,;
6 int match_counter = 0;

7 for (int i = 0;i < idata_task num;i++) {

8 match_counter += idatal[il;

9
0

1

1 return 0;
1

}

gobobod4e0

4.4 0O0O0OO

gobobooogbbbuoooobbboooobobogo

BOSEODUODOOUOOODOOoOOoOObOooooboooobooBoSsEOOoOOoOoOoOO
O000D00O0 BoseOODOO bose UODODOODOODOOODOODODOOBOSEODO
O000000D00000D00 BoseDbose DOOODODOOOOOOOODOOODOODO
gobbbuoooobobobuooooboboon

gbogbobodgbogbboobuoobbobbooobboobuooboonboobg
gbogobodboobboooboobbooboobbobobuooboobbon
O0000000b0o0o0o0oDOoboOoOn BOSEOBoseDbose I 30 0000O0OOMO
O0000000000000000(O 4.9)

X5 IERRIIR
BOSE

Bose ——» (B|b)(OSE|ose)
bose

049 300000000000 10D000D0O0ODO0ODO
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ooooOoOoOoOoOoOoOO0OO0OO0OOOOOOOOOOODOOD (DoOooOooooo)2
O0000000ooopoooooOogd (O 5.4)

AB |0DD0O0OOO(O0O)

A* |00D0O0O00 00000000

AB |ADOO B(OD)

[A-Z] | A-zDDOOOOOOOOO (DOOO00)
() |ooooooooo (@oooon)

041 000000000000D00

gbobogbbuodgbbooboobbuoobbodobboooodgboouobobo
gobbooggoobb 420000000

0000|0000

0 ()(Coooo)
[](@Cooon)
*O000
0o

0 |00

U42:. 000000000

0000000000000 0D0ODO00DODo0oooooon
1. 00o0doooooouoonoooonoooooo
2. 0000ooooooob

3. Subset Construction 00000000

4. 0000000ODOO0O0ODOODODOO

gobbboooobbboooobbbooodobbboab

4.4.1 O0O0OOOOOO

gbobogboboobo410bo0oboobbooboobbooboobbooboon
gbbogobuodgbboobuodbbooooobbooboobbooboobbon

22



040 Cerium 00000000 O0ODO0O

gogdgobobobboboobobbbbbboboodouododooouoooooooon
gog

([a-zA-Z] | ab *) * aa

|

0410 00b0ooboobooboobon

gbobogobodbogbbooboobbobobooboobobbuooboonoog
gbbodgbooobuoobooboooboooboobbobuoobboobood
gobbboogobbobuooooboboooobboooooboobog
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gbogobodbogbboobuoobbobbodobooboobuooboonooba
oobo0o +00oo0obo0boobobooboobooooooobooooboooD
O0000(O 4.11)

ab [A-Z]b
O O

0411 00ogoo

gbobobobgdgbogoboooboooobobuoobboobboobbobboba
00 ‘40000000000000000 400000000000 (0 4.12)
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OO0 ¢ 000000000000000 000000000000 ooooo
gbogbbuoobbuodobbuoobbuoobobbooboobooobooobood
0000000000000 OoOY)0000o0000oooo00oooooooDoooon
O000000000000000000000000O(O 4.13)

[A-Z] | ab
>~

0 4.13: 00

000 0000000000 000000000000000000000OO
000000 oo 000000000000000DOCOO000O0ODODOOO0O
00000000000000000000000000(0 4.14)

0 4.14: 00O
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00000 «Cy0000oooooo«yoooooooooooooooooo
gbboogobbodobbobooboobbuoobbboobboobboboobood
000 (0 4.15)

(al[A-Z))"b
~ ()

0 4.15: 0000

000000000000000000000 ‘4000000000000000(0
4.16)

(alb)([A-Z]|[a-Z])" a

U 4.16: 0000000

O0o0ooooooooooObOOo00ooboo0o0on0 DFAONFADDODOOOOOO
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4.4.2 O00O0OOOOOOOOO

gobbbogoobbbooogbobbbooooboboooobobobn

0 N U W N

33
34
35
36
37|
38
39
40
41
42
43
44
45
46
47
48
49

oboobod 47 0boobooboon

0000000000000 0000000000000000 (NFA)OODOOOOO

typedef struct tgValue {

StatePtr asterisk; // last * state of the expression
StatePtr startState; // startState of the expression
StatePtr endState;

TransitionGeneratorPtr tg;

} TGValue, *TGValuePtr;

TGValue generateTransition(NodePtr n,TGValue tgv, int pass) {

if (n—>tokenType == ’+°) {

TGValue tgvLeft = tgv;

tgvLeft.endState = n—>right—>state;

tgvLeft.asterisk = NULL;

tgvLeft = generateTransition(n—>left, tgvLeft pass);

TGValue tgvRight = tgv;

if (tgvLeft.asterisk) {
n—>right—>state = tgv.endState;
tgvRight.startState = tgvLeft.asterisk;
tgvRight = generateTransition(n—>right,tgvRight,pass);
tgvLeft.asterisk = tgvRight.asterisk;
return tgvLeft;

ggVRight.asterisk = NULL;
if (pass==1) {
n—>right—>state = tgvRight.startState = createState(tgvRight,n—>right);
else
) tgv{Right.startState = n—>right—>state;
tgvRight.tg— >stateArray[tgvRight.startState— >bitState.bitContainer] = tgvRight.
startState ;

tgvRight = generateTransition(n—>right,tgvRight,pass);
if (tgv.endState && tgvRight.asterisk) tgvRight.startState—>accept = tgv.endState—>
accept;
tgvLeft.asterisk = tgvRight.asterisk;
return tgvLeft;
} else if (n—>tokenType == | ) {
TGValue tgvl = generateTransition(n—>left,tgv,pass);
tgvl.endState = tgv.endState;
TGValue tgv2 = generateTransition(n—>right,tgv1,pass);
return tgv2;
} else if (n—>tokenType == %) {
TGValue tgvAstah = tgv;
tgvAstah.endState = tgvAstah.startState;
if (pass==2) tgvAstah.endState—>accept = tgv.endState—>accept;
tgvAstah = generateTransition(n—>left,tgvAstah,pass);
tgvAstah.asterisk = tgvAstah.startState;
return tgvAstah;

} else if (n—>tokenType == ’c¢’ || n—>tokenType == ’a’){
TGValue tgvl = tgv;
if (pass==1) {

n—>stateNum = tgv.startState—>stateNum;
n—>state = tgv.startState;
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50 } else {

51 int nextState = tgv.endState—>stateNum;

52 n—>nextStateNum = nextState;

53 n—>nextState = tgv.endState;

54 BitVector bi = createBitVector(nextState);

55 if (n—>nextState—>accept) bi = bitSet(bi,1);
56 setState(n—>cc,bi);

57 tgvl.startState—>cc = mergeTransition(tgvl.startState,n—>cc);
58

59 return tgvl;

60 } else {

61 return tgv;

62|

63| }

000000470000 0000D00DO00DODDODODOODOODOODODOO
0000000000000 00DO0D00O00DOD0D00O00DOoDoOooDOooDOon
U0 generateTransition J TGValue DU OO UOUODUOODOOODOO0ODOOY932000
‘+’'00000000000000tgvO tgvleft 00000000 OO0ODOODOODO0O
00000 tgvleft O asterisk 00000000 OendState 0 ‘+’0000000000O
0000000000 asterisk000 OO0 startState 00 000000000000
D00D00O0DO0DO0D00DO000DO0 asterisk 000000 DOOD0OOOOODOODO
00 asterisk OO0 ODOO0O0O0O tgv DO0OOtgvLeft O asterisk D00 0O0O0O0DOOOO
O000D0 tgvRight 00000000000 O0ODODOODODOODOOODOODOOODODO
000 00tgv O endState O O tgvRight O asterisk 00 0O 0 O tgv O endState O 0O 0O O
00O tgvRight.startState D0 00000000 tgvleft 0000

34-37000 0000000000000 0Y 000000000000 OOOd
tgv.endState O tgvl.endState 0000000000000 O0O0O0OO tgvl ODOODOOO
000000000000 tgv200000000000O000O0

39-44000 0000000000000 OtgvAstah O startState O endState O O
0000000000000 00000OtgvAstahDO000O00O00ODOOO tgvAstah O
0000 0OtgvAstah O asterisk OO 0O O tgvAstah O startState OO0 00 OO tgvAstah
oooo

46-590 0000000000000 0DO0OO0O0ODO0ODOO0ODOODOOODOODbOODn
O00O0DoDO0oooooog

0000000000000 0000O00DO0ODO00D0ODO0ODODO0OD0OD0OO0 merge
00000000 *000 +000000000000O0state 00000000000

([a-zA-Z]|ab*)*aa

1000000000000 00DO000O00O000O0O000DoD0o0ooDOooOoOooDog
0000418000 40 [z 000000000 400000b0O0O0O0ODODODOO
200000000000bLDOODOODODOOD 2000 4000000000000
0000 (0 4.18)
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gobobod 20 400000000000 bobbuoooooooobobobod
gogobobbbbbbbbbbobbbobobbooboobotbuoooooooooooon
0000000000000 40 a0 [z 00000000 400000b0O0O0O0OO
gbobobg 24000000000000000O0O0OOOODOOODOOOOODOO
0000000000DooooO(Od4.19)

DFA

0419 b0o00ooooboobooboboooboooooboboboboooboog

4.4.3 Subset Construction DO 000000

0000000000000 00oDo00oo0ooDoOo0ooooDoOooooooog
000000000000 000000O0000O000b0000O0000obOO00oDo0n0n
00O Subset Construction 000000000 O0O0O0O00O0 BitVector UOODOO100 Bit
000000000000 Base OOOOOOOOOOO0OO0OO0OOOOOOODODODO BitOd
0000000000000 00000000dOOOdBitVector 00000 OOOOQ
0000000 (O 4.20)

30



040 Cerium 00000000 O0ODO0O

0 N Ut W

©

10,
11
12
13
14
15
16

000000 48: 00000 (charClass) DO OO

+ FREM
4100100

2400 1]1]0

0 420: 000000

17|

typedef struct utf8Range {
unsigned long begin;
unsigned long end;

} RangeList , *RangeListPtr;

typedef struct condition {
RangeList range;
Word w;

} Condition, *ConditionList;

typedef struct charClass {
struct charClass *left;
struct charClass *right;
Condition cond;
int stateNum;
BitVector nextState;

} CharClass, *CharClassPtr;

0dddd0d480000000D0DO0DODODDOODOOOO0OO0OO0O0O0O0O0000O0O0OOOOO
0000000000 0000000o0o0o0bOb0o0000ooOoooobooOod Condi-
tion 0 O RangeList 0 begin 0 end 000000000 O0OOOODODOOOODOOO
O Condition 0O0O0O0O0O0D0O0O Condition OO0O0O0O0O0DDOOOOOOODOOOO
nextState D O O OO0
0421 0200000000000000000000000000 2000000
0000000000 O0bOo00oo00bDoO0dDOoDoooDoOo0oooDoOoOooDoa

gobbbogoobobooogboobooooboboooobo

gbobogobuodgboboobuobboobuoobbobboobbooboobobo
gogggoobobbbb 4220000 1300000000dooooooooog
goo
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O 4.21: Subset Construction OO0 0 OO0 O0OOOOO
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b : insert Character Class Begin
e : insert Character Class End

ccRange.Begin ccRange.End
| !
b e | |
1 — i
b e i
2 A i
b | e |
3. [ : | !
b | e
4. : ; |
b | | e
5. : : =
b e |
6. ' ’
b e
7. i {
b i e
8. E ; !
' b O
0. i —_ |
| b e
10. i F |
: b ! e
1. ! = : '
i b e
12. |
; i b e
13. i A

0422 000000000 MergeUDOODOOOOOOO
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O0o00oogd 4.9: ceriumGrep O TMmain

typedef struct transitionGenerator {
long totalStateCount;
long totalBasicState;
StateStackPtr stack;
StatePtr stateEnd;
StatePtr stateStart; // start state without accept flag
StatePtr xstateArray;
StatePtr stateList;
9 StatePtr anyState;
10 tsValue (xstateSkip)(tsValue tsv);
11 tsValue (xstateMatch)(tsValue tsv);
12 tsValue (xstateNothing)(tsValue tsv);
13| } TransitionGenerator, *TransitionGeneratorPtr;
14
15| void
16| ceriumCreate AnyState(TransitionGeneratorPtr tg) {
17 tg—>stateSkip = stateSkip;
18 tg—>stateMatch = stateMatch;
19 tg—>stateNothing = stateNothing;
20 createAnyState(tg);
21 generateTState(tg—>anyState,tg);
22 // generateTState for startState. It is used in stateMatch.
23 generateTState(tg— >stateList,tg);
24 tg—>stateStart = NEW(State);
25 xtg—>stateStart = *tg—>stateList;
26 tg—>stateStart—>accept = false; // Start state never accept
27 generateTState(tg— >stateStart,tg);
28 }
29
30| int
31) TMmain(TaskManager xmanager, int arge, char xargv|])
32|
33 t char xfilename = 0;
34 Search s = grep(argc,argv,true); /0000000000000 000O0OO0O0O
35 FileMapReduce xfmp = new FileMapReduce(manager, TASK_ EXEC,
TASK_EXEC_DATA PARALLEL,TASK_PRINT);

0 N O U W

36

37 ceriumCreateAnyState(s.tg);

38|

39 filename = fmp—>init(argc, argv);

40 fmp—>w—>global = (voidx)s.tg;
41 if (filename < 0) {

42 return —1;

43|
44 fmp—>division_out _size = sizeof(voidx)x3; // xResult,xblockBegin,xblockEnd
45 task_init();

46 fmp—>run_start(manager, filename);
47 return 0;
48| }

O00000 4900ceriumGrep O Task OO0 O0ODOO0OO0S000O0O00DOODOO
O0oOoooDOOOoONFAQOOOODOOSODOOOODOODOOODOODODOOOOO
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OO000000000000000DO0OO0O0O000 TransitionGenerator O Task OO
oog

000000 4.10: ceriumGrep Task

TSValue blockSearch(TSValue tsv,Buffer buff,int task_spawned) {
tsv.current = tsv.tg—>stateStart—>tState;
tsv.blk—>result = NULL;
ResultPtr result = NULL;
tsv.blk—>resultEnd = &result;
tsv.blk—>blockBegin = tsv.current;
addResult (tsv,true,buff.buff,buff.buffend); // entire buffer
tsv = tSearch(tsv); // Matching
9 tsv.blk—>blockEnd = tsv.current;
10 if (tsv.blk—>blockEnd—>state—>bitState.bitContainer != 1) {

X0 N O Ut W

11 if (tsv.matchBegin != tsv.buff.buffptr) {

12 // partial match case at block end.

13 addResult(tsv,true,tsv.matchBegin,tsv.matchEnd);
14 }

15

16 tsv.blk—>result = result;

17 return tsv;

18 }

19

20| static int

21| blockedGrep(SchedTask xs, void srbuf, void xwbuf)
22 {
23 TransitionGeneratorPtr tg = (TransitionGeneratorPtr)w—>global;

24 Buffer buff;

25 buff.buff = buff.buffptr = i_data;

26 buff.buffend = buff.buff + length;

27 BlockOutput blk;

28 TSValue tsv = createT'SValue(tg,buff);

29 tsv.blk = &blk;

30 tsv = blockSearch(tsv,buff,task_spawned);

31 o_data[0] = (unsigned long)tsv.blk—>result;

32 o_data[l] = (unsigned long)tsv.blk—>blockBegin—>state; // never used now
33 o_data|2] = (unsigned long)tsv.blk—>blockEnd—>state;

34 return 0;

35| }

Oobogob41000000000000000D0 TeskOOOODOODOODOO
Ubooobog 800l tsearch OO OODOO

OO00OO000 4.11: tSearch

TSValue tSearch(TSValue tsv) {
next: while (tsv.buff.buffptr < tsv.buff.buffend) {
tsv = tsv.current—>stateMatch(tsv);
if (tsv.current—>ccvSize==0) {
// matched start again
tsv.current = tsv.tg—>stateStart—>tState;

unsigned char ¢ = xtsv.buff.buffptr++;

for (int i = 0; i < tsv.current—>ccvSize; i++) {
CCVPtr cev = &tsv.current—>cevli];
if (c<ccv—>begin) {

O © 0 O Ut i W N
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12 tsv.current = tsv.tg—>stateStart—>tState;
13 tsv = tsv.current—>stateSkip(tsv);
14 goto next;

15 } else if (c<=ccv—>end) {

16 // range matched.

17 if (ccv—>w.word) {

18 // match the word.

19 // if (not match) continue;

20

21 if (ccv—>tState) {

22 tsv.current = ccv—>tState;

23 } else {

24 tsv.current = nextTState(ccv—>state,tsv.tg);
25 ccv—>tState = tsv.current;

26

27 goto next;

28 }

29 }

30 tsv.current = tsv.tg—>stateStart—>tState;
31 tsv = tsv.current—>stateSkip(tsv);

32|

33 return tsv;

34 }

gboobg411o00boobobooboobooboab
gboobobobobooboobooboobuooboboobo

000000 4.12: Result DO 0O O

1| typedef struct result {

2 unsigned char xbegin;
3 unsigned char *end;
4 bool continued;

5 struct result xnext;

6| } Result, *ResultPtr;

goodgob41200b00b0o0boboobooboooboobboooboobog
oooobooboboboobobooboobooboobobobbooboD List0ooogo
gobobooggo

OO00ob0obobOobooboo0obo0ob0ob0obobob0b000Print Task OO OO0
gobbooooobobobogo

gbobobogbooboobobobobobbooobobobobobobab
gbogobooboboboboboboo4230b0bobobooooooboonog
gbobooooboboboooboboobobboboo1obobobobobo
abb 0200000000000 bbeOOOODOODODOOODOODOODOODOOO
goboobbooodbboobboobooobboobboobobboobon
gobbobuoooobobuooooboon

0000100000000000000000000000OO0OOO (00 1000
00)0000000000000D0D0ooDOooooDoOOoOoCOOOOoOOOoooooooo
oo
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1FFXIE : ab*c

abb LAFOBNDT ppe LAFESRVDT,
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static
TSValue stateSkipOnce(TSValue tsv) {
if (tsv.matchEnd) {
addResult(tsv,false,tsv.matchBegin,tsv.matchEnd);

}
tsv.buff.buffend = tsv.buff.buffptr; // end search
return tsv;

}

static int
run_print(Sched Task xs, void srbuf, void *wbuf)

ResultPtr prev = NULL;
for (int i = 0; i < out_task num ; i++) {
ResultPtr r = (ResultPtr)w—>o_data[ixout_size+0];
// first reply contains block begin and block end
unsigned char xbegin = r—>begin;
unsigned char xend = r—>end;
I = r—>next;
if (r == NULL) {
prev = NULL;
continue;

}
if (prev) {

if (I >= out_task_num) break;

//000000000000 prevBlockEnd O state 100000 )

StatePtr prevBlockEnd = (StatePtr)w—>o_datalixout_size—1];

if (prevBlockEnd—>bitState.bitContainer 1=1) {
//0000000 stateSkip 000000 MMO00DO0O0OOO
TransitionGeneratorPtr tg = (TransitionGeneratorPtr)w—>global;
tg—>stateSkip = stateSkipOnce;
Buffer buff;
buff.buff = buff.buffptr = begin;
buff.buffend = end;
TSValue tsv = createTSValue(tg,buff);
BlockOutput blk;
tsv.blk = &blk;
tsv.current = prevBlockEnd—>tState;
tsv.blk—>result = NULL;
ResultPtr result = NULL;
tsv.blk—>resultEnd = &result;
tsv.matchBegin = prev—>begin;
tsv.matchEnd = prev—>end;
tsv = tSearch(tsv);
if (result) {

resultPrint(result,"Print");

}

¥
} .
prev = resultPrint(r,"Print");

return 0;

}

gbooboo0d4130000000 TaskOODOODOODOODDOODODOODODO?27-480
gbobodgbdoobbodbooobuoobboboobboobbbobboobood
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e Mac OS X 10.10.5
e 2%2.66 GHz 6-Core Intel Xeon
e Memory 16GB 1333MHz DDR3
e 1TB HDD

Cerium 00000 Word Count 0 MacO we OOODOODOOOOO0ODOOOO MacO
egrep 100000000000 OO00ODOODOO0OODOOOOODOODO IJOOOOO
oo

5.1 Word Count

000000000 Ob500MByte OODODDDODOOOOO O6500000 8300000
ooooooon

O05100000000000000 WordCountOOOOOOOMacO weOOGOO
00000000000 1059000000000 0004Cerium Word Count 0 mmap
Blocked Read DO O OO0 MacO weOODOOODOOODODOODOOOCerium Word Count
12CPUOO0O0O078000000O0000Mac well 1400000000000

mmap JOOO000 OSOO0O0O0OO0OO0O0OOOO0OODODOOOOODODOO Word Count
0000000000000 0O00DO00b00000Ommap 000000 DOOODOO0O
O00ddoooooobob000d0d00o0oOoooDOnBlocked Read DOOOOO
0000000000000 O000000D0o0oo0oOo0oDoooDo0ooDoooooon
000000 O00dooOO0bO00oDoO0boOo00Doo00bDoOo0o0oDoOOo0ooDoOoOoOooDoDa
0o0o00ooo0o0ooon
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0000000 : 500MB(O00O0O0O 85000 )
gogbboobouoodgbooo

CPUNum /0000O | Mac(we) | mmap | Blocked Read
1 10.59 9.96 9.33

4 8.63 8.52

8 10.35 8.04

12 9.26 7.82

051: 00000000000 Word Count

Os5200000000000000 Word Count OO OOOO

Mac O we OODOD0OD0OO0DOODOODODO 408000000000000O Cerium
Word Count 0 1 CPU O 370 0012CPULODO 04000000000

1cpUOODOODOOO MacO weODOO 11 000000DODO12CPUODOODOO
OwclODO 1020000000001 CPUD 12CPUDLDOOOOOOY9200000
goooo

goooboboobooboboobobooobobooboboobooboogn e,y
0000000000000 0000000000O00ODO0ODODOODDOOO0OD 60%00
0% 0000000000000000DOO0O0O

0000000 : 500MB(00 00O 85000 )
gogbooboogobobod

0000 |0000 (0)

Mac(we) 4.08

Cerium Word Count(CPU 1) 3.70
Cerium Word Count(CPU 4) 1.00
Cerium Word Count(CPU 8) 0.52
Cerium Word Count(CPU 12) 0.40

O 5200000000000 Word Count
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5.2 Boyer-Moore Stirng Search

O0o00ooooon Oos00MByte DODDODODOOOOOO&00O0DOOOOOOOO
000000000 ‘Pagkistan’ OO0 00000000000 O0OO0O00O0O0OOOOOO
(000D O 4000)

O05300000000000000D0000O00ODO0O0ODODDODO0O0ODODO0OBoyer-
Moore String Search 000 63 % 0000000

0000000 : 500MB(O00O 00O 85000 )
00000 : Pakistan
00000 4000
doodoooooooooo

CpPU DO |O0D0ODO | Boyer-Moore String Search
1 3.17 1.70

4 0.87 0.49

8 0.47 0.27

12 0.33 0.21

0 5.3: 00000 Boyer-Moore String Search O O 0

5.3 UUgQ

O0000O0OMacO egrep0COOODOOCOOO DFAODODOOOODODODOOOOO
000000 single thread grepO0Cerium D0 000000 CeriumGrep OO0 OO0O0O0DODO

0540 500MB(00008000) 0000000000000 ‘[A-Z][A-Za-z0-9]*s’ O
000D0O0000DOoO0o00O00o00ooooooo0oooDooD0ooooDooDoog
O0OoooOoooooo

single thread grep 0 CeriumGrep 000000000000 DOOOODOODOODODOO
gooooooooboOobboooobooUoobogobboooooDobUooboooo
0o0o000ooO000OooDoOo00OooDoOoOoODOO00U0OoDOOOoOoOoOoOoOoDoODOoOO
O00ooO00ooOoobooOoOoDoooooo

O00 egrep 00 0O0ODOODOODOODOOODODODOOODOODODODODODOO
goooooooooooobooobooooooobooogoopbooooopooooo
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0000 ‘[A-Z][A-Za-z0-9]*s’

0000000 : 500MB(00 00O 85000 )

godgd goodooouotn (ooooogooo

single thread grep 21.17 16.15
CeriumGrep(CPU 12) mmap 18.00 5.12
CeriumGrep(CPU 12) bread 15.76 5.18
egrep 59.51 09.51

U 54 0000000OOO0O0O0LODOOUOO0O0ODNO grep OO

05500000 ‘[A-Z][A-Za-z0-9*s O 500MB(0 000 85000)01GB(0 OO0 1.7

O00)000000000000000oooooo

gbobboooobbbuoooobbboooobod

0000 ‘[A-Z][A-Za-z0-9]*s’
0000000 :500MB(OO0O0O 85000 )
gobobooboooooon

0000 /File Size(Match Num) | 50MB(540 ) | 100MB(107 0 ) | 500MB(536 0 ) | 1GB(10720 )
single thread grep 4.51 9.42 20.62 40.10
CeriumGrep(CPU 12) mmap 8.97 10.79 18.00 29.16
CeriumGrep(CPU 12) bread 7.75 10.49 15.76 26.83
egrep 6.42 12.80 59.51 119.23

g ss5: 000000bboboooun grep 0

0560 a0b0000000000S00MB(OO0ODO24000)0000000000
O00oobOoboobooboob0oboooooobooboooooDoDbonCeriumGrep
0000000000 Blocked ReadDCPU DO 120000000

00000000000000 ‘“(a|b) O

2 00000000000DooOoOOooOO

O00000000000D0000CeriumGrep OO0O00O0OO0D0OO0O0ODOOODOODO 10
gbobboddUlegrepdd 56 UOOODOOOOO
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gogboouooooon

000000 : 000000000 /subset DO0O0OO

gobo

CeriumGrep (CPU 12) bread

egrep

g 100

26.58

70.11

080
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76.78

040

28.86

81.88

oo
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a |b)z’ 6/21

a |b)(a |b)z’ 7/38

a |b)(a |b)(a |b)(a |b)z’ 8/71

020

29.15

86.93

O56: 0000000000000 GrepO OO

O057ab000000000000000 (W|lwordOOOODO aObOOOOODO
O000s00MB(OOOO23000)0000000000000O0000O0O0OOOOO0O
OO0oooooooooog

000000000000 egrep 00000 CeriumGrep bread D000 30 % 000

0000000 :500MB(O00O0O0O 24000 )

oooo : (W |w)ord
gogooooooobon

googd

time (s)

single thread grep

27.13

CeriumGrep(CPU 12) mmap

21.58

CeriumGrep(CPU 12) bread

19.99

egrep

28.33

Usn0bgobobbooboobdd grepd g

44




eld UL

00000000000 Crium OOO0OD0OO0O0OODOODOOOODOOOODOODOODO
000000000000 0o0oooDO0oDOoooooooOooooDoo 13%O000

O000OD0ODODODODO0OD0ODODODODODODODDDDDOWordCountOBoyer-Moore String Search
odoodooodooodoooondoooooonooooooooooooooon
000000000000 00D0ODO000O000OoO00o0o

gooodobooodoooooooodoooooooooooooooood
O00000O0O0O0OONFAOD DFAOUODODODOODO NFADOODOOODOO Subset
Construction 0 DFAOOOOOODFA OODOOOODO DFADOOOOOOODOOOO
0000000000000 00000D000000000000 egrep000000O0O
66 % 000000

6.1 OOOOO

00000000000 0DO0o0oO0DbD00oo0oDO0oooo0O0ooOoDO0oDOoO0DODO
gooooooobooOoobooooboooooooboooooobboOoobboouDbobOoo
go00o0d00oooo0o0ogooooo0oooboo0oooDooooUoooooooo
ooooooooooooobo0oooooobooooooobooboOogoooDbobooOooo
Oooo0ooooooO0o0oooDOoboooOoO0obooooOO0bObOoOoOOoOOooDooDOooo
goooooooooooooboooooooboboobobooooobooopoooooo
0o0o00oopooo0ooooooooDoOO00U0OooOoOoOoO0O0UooDUooooooOooo
OooooOooooobooooDboo

06100word DOODDOODOODOODOODODODODODFADODOODOODOODOO
goooooooooobooboobobobOobUobOoboDb s 0bOobOobOobOooD
0000000O00DO0oU0DOoU0DOOo0DOOoU0DOoOO0OooOO0OooOOoO0 20000000
O00oooo0oobooOo0oDoOoooooooo

O0000000DO0DO0DO0bDO0Ob0OO0O0DODOBoyer-Moore String Search O O 0
Oooboooooooooooooobbooooog

45



gell 00O

word

O Oan Onn OO

== @

Ue6l:000000000000Db0O0DbOObOOoDbOOobOO0ODbOd

46



ooy

[1] R.S. Boyer. J.S.Moore. A Fast String Searching Algorithm, 1977.
2] 00 00,00 00,00 0.00000000(00000), 2015,

3] D00.0000000000000000 ceriumO000. 000000 O0ODODOO
000 24000000 (O00), March 2012.

4 OO0000. 000000oooooooooooooooooooooooo. oo
O0000000000000000000 26000000 (0D0O), 2013.

) 00 00 O0O0OO. 0000000000000 O00OO0OOODOOOOO. Obs200
gboobooboooboodn, January 2011.

[6] Michael Sipser 000 00000 00000 0000 00000 00000000
0.0000000 [00020])(0000), May 2008.

47



